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Topic:- General Hindi

1) “3MY AR & 37 70 S¢ |1 9 I BT Yo a1 T G2
1. 30 IR BI el A

2. 31U AR T S|

3. 31U YMAR DI =l WY

4. 3TU YFAR DI 9al 31T

Correct Answer :-

« 30 IR &Y T WY

oy fray sffy 1’ 39 Hfaar & WA s 82
1. BRI 441G

2. QT Furet

3. BRI S

4. T A aAf

Correct Answer :-

. BRI ST

3) «3MY Yo fHar?” 39 919 T Y5 a19d T N2
1. 3TUA HIoH fam


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

2. 3T HisH & faam
3. HISH 3MUA fosam
4, 3MMY HIoiA fpw?

Correct Answer :-

o 310 YIS fobam

4) T fER &1, yrT &1 ot Sifge AT iR Ueiad gl
1. Teafad foam ST 8t

2. ictd fobar ST g

3. afdhd foparT ST BT

4. Gfeyd fooam oI

Correct Answer :-

. TUcdfad fHar ST 8

5) B¢ DT ATH TdT30:

W9 79 f3d 997, 3 7 faRa A5 w4
g A faafrad, fom favr i/ e w9

1. Y
2. Al

3. IedTal
4. gR e

Correct Answer :-

6) B¢ T ATH IdT30:

Fremer aftum, eRd 7 W g 8,
-5 Q-gPe, G @ ¢
afeat 99-yare, Bel dR1-HS9 ¢,
o TIge, -1 Rigra= 31

1. 9Wyg

2. 3yl

3. TfifcepT

4, BR TifdpT
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Correct Answer :-

7) & b1 A B
1. IR, B

2. DR, fHIRT
3. ST, dTET

4, BRI, DG

Correct Answer :-

A4

o O], hId

8) ARG FrwrmAd 72
1. fgaw ok ke

2. feag iR e

3. 419 R g

4. g iR TR

Correct Answer :-

. fGau SR e

9) gyTfafir & I A1 TATH 82

1. HUYRY JAN

2. TG FHY

3. fg oo

4, TGXY T

Correct Answer :-

. SIUIHIT THN

10) A3 IR BT AIYRYT 91 § Feal:
T i AB I FiaT §, ST T Gt R g1
1. QBT B BT T T R

2. ADHIUT Hfd BT THA HRAT AT
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3. Ah 0 B3 B T IH B gRT B B
4, AH Y Hfd S gld1 & ITBT IH I B4 B

Correct Answer :-

« BT B &1 IHEE ot B T

11) SHT-TROP 5T I $T g &2
1. fARiard®

2. PR e

3. Ofh-FRY®

4. qgrg g

Correct Answer :-

. Rudade

12) o B¢ TU-ga R wRrurira fraet & g &, 38 71 $ea @2
1. TS B

2. T ST

3. AT H1ed

4. T BT

Correct Answer :-

. GBI

13) IYATAD’ BT AHTIS faug Fam ghm?
1. I dTell Y

2. XY DI I dTell

3. XY DI I aral

4. Y SN IAAT |

Correct Answer :-

« Y B IAM g1
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1. 39 QI AT G &
2. I AfeT T AN
3. I et &l
4. JG AT ANl

Correct Answer :-

. SUEAfA g

15) QYR 91 o1 FAfdra area & sea:

FIRIR $1 T@d g gt Fa1 31 a6 T reht 310

1. GRRATR B1 SR T § a9 G A1 &1 1€ 3t M7t 82

2. 99 H GRRFIR &1 3R 3@l § a9 Gof a1 &1 A1E 181 3Tell g
3. 99 H GRRATR &1 3R <Ea1 § a9 Yol JIal B a1e 371 STl 5|
4. B RRIR 31 3R T@ar 3R g3 Sa1 31 a1g off Sireht &

Correct Answer :-

. 99§ GRRAR &1 SR ST § a9 Gof Il &1 ATG 31 ST 5
16) ‘33TS’ B! WIS\ dicil A FT Hgd 82

1. SIRGR

2. HHGR

3. 9gd Tl

4. §gd 4

Correct Answer :-

17) <33d IR F1 WIS} Fiell A FT FEd B2
1. QR SR8 387

2. 3T BI @

3. SfTd XG4l

4. SId 38

Correct Answer :-

. 3MAEIE
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18) fifda dfeaai d s ATE 32

IAd dGH & 9T FONRT |
TRY U RS B °RT 11
3« oI &3 Gy Hifg @ |
Peard qra® a9 S ||

1. 3%
2. AIYE T
3. dR ™
4. 1Y T

Correct Answer :-

19) ¥ P A Id1C;

g HP 5 & AN fOa e yraa”

1. AT X

2. ETI XY

3. R ™

4, HIUI Y

Correct Answer :-

. A ™

20) TIRYIN® A 3 &

1. S T & | 37 &l e R ¢ |

2. FrTapt TS a1 e 75T B S Hebll Bl |

3. S forelt & R & uep Ay SiR ufefifiya a1 ) e aa B
4. S ot & oy & wep 3 ofR ufikiifir ardf &1 wiae e ra B

Correct Answer :-

. O frat @ ARy & ues A 3R uR=hiftd ordf &) uebe B B

21) ‘BT 3R DU’ BT T 3 22
1. IRGT 3R ATl


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

2. T 3R AT
3. ST 3R AT
4, T 3R SRTSTT

Correct Answer :-

. 1GT 3R ATl

22) fpare o1 waigar 3
1. iy
2. UTeft
3. 01
4. U131

Correct Answer :-

. ORR

25) @ AR W Prad g:
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1. W& 3R G
2. g 3R O
3. g 3R Tad

4. AiGN 3R g

Correct Answer :-

. FhE 3R G

26) Hgl $YF qadI:

1. TR 2eg Rt deard & & rgor fow o ¥

2. IR Teg Teamy ok v & € 7gur fsu wma §1°
3. TR Treg R siftvemd & € 70T fpu s 1

4. IR g Rt ivard & g wgur fsu omd § 1

Correct Answer :-

. TIRYTTYS e Rt 3fyens & g1 Jgur fru Sd g 1°
27) PRI S G ISR A &:

1. 3G 9, fagmT

2. YT 3, faamT 3|

3. G 9, faura 9

4. R Y, IR ™

Correct Answer :-

28) G YETaRT FTd:
sMgdTfigaRumifeasd
1. fe foed

2. lGT hehd

3. feT fegRa

4. fe4 38w

Correct Answer :-

. feafra
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29) ST | fAfgd SrddR Tarsi:
@ 91 Arhd TR g 98,

il & e WE 3 S @

1. ARG bR

2. Y DR

3. ¥UD ADR
4. 3ANfIT SAPR

Correct Answer :-

30) HTei H fAfed e R Farsi:
WRY JFd 71 97 g1, W 357 famnfy,
o R U= gl g s T af¥l

1. Y 3ABR

2. ¥UPH HABR

3. 3T SADBR

4. IUHT DR

Correct Answer :-

Correct Answer :-

32) Sfad1 3 g:
1. 3T, dUC, START
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2. TH, due, g
3. Y, e, g1
4, Y, 3=, g1

Correct Answer :-

33) <qfevly wel & yeiia g3 &2
1. 3qaH
2. RIagd
3. FEAYR
4. TGS

Correct Answer :-

34) ARG FT ATATRIG {378 T M2
1. IR (G BT BR

2. IR 51 BT GHER

3. IR Q! BT HBR

4, IR TG

Correct Answer :-
« IR G BT FHRBR

35) “Ta-ge fPd g1 3T g &2

1. famtande

2. FRd®- e

3. Afe-FRY®

4. gata g

Correct Answer :-

36) T ATHI Bt IXA aTH | TG
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«“3TA T 3R J 7 T 1”

1. 3P Hg 4 & 31 A1

2. 3P HE 9 H T T

3. T A T 39S g I

4. SR §1 39 HgT a9 g H A T

Correct Answer :-

. 39D He I H AT

37) U fpaaT HYA§:

HiadT A A - YT BT B B 1°
1. Jd1Y ARl iy

2. TOIRI U9TG fgad

3. Hglcdl g

4, 3T THS YA

Correct Answer :-
. 3T A PR
38) TH AT & foIY TP Weg TATST:
R T 1 51w
1. 3T
2. 3T
3. 31T
4, 3T

Correct Answer :-

39) §9 AT o foTY U Weq TS
o aToft e T HR TP

1. S

2. 3RATY

3. SffHar-g
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4, I

Correct Answer :-

40) IRA TR B VYT a1 H FgfIg
“gg g & 3raTal IaaR W Jaar g1

1. 98 Ugd § 3R 3fEaR W s=ar g
2. edr 1t 8 3R SRageR Wt STt 8|
3. SIaid 98 Ugdl off bz +ft sreeR off saaT 5
4. T & 1Y 98 31@aR f Sgdi 5|

Correct Answer :-

. 98 Uedl g 3R 3rgeR H s=ar |

42) T P fady =g @
1. BUET

2. I
3, el
4. farig

Correct Answer :-
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1. 98 B
2. Hiddm
3. Hel hI

4, dIch

Correct Answer :-

45) Og) fawey garga-

fafRry fawy, S fagm, won snfe &t aw-He! sfrafa & fo Mifda sryar falky orf & wgaa
HELIG R R

1. TP e HEAA &
2. TIRHIY® Teg HEad &

3. QT ¢ e HBAd &

4. %G YeG HEAd &

Correct Answer :-

. RIS Weg HEard &

46) Tg! fawe gu:

HETHT 3R WUS BTy § HI &1 &
1. UTNT el UG |

2. HUTDHYT SURIYA|

3. 35.]9 SURITYHAT|
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4, PYh SUTRITYI

Correct Answer :-

o PY[h UMY

Correct Answer :-

. 3o HINT

48) gl fawey garan:

eI P f5T T FT JUTE T T 8?2
1. I

2. IR

3. R

4. Yfqd 9

Correct Answer :-

. I T

49) Tg! fawpeu A a1y ot gfef B
HETOT H UT-GRET qUT BT ST TG A1

1. JATR- 37
2. AR -l
3. TR -G
4. ORIOTR- STl

Correct Answer :-
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50) el fawey A a1 Pt gf Fe:

Herqur & fawg it 1 T 3G TR
1. Sl Td gufdr

2. JHFaT ud gufar

3. g1 Td guid

4. GO Td 3quid

Correct Answer :-

. QUEGAl ud guidT

51) el fasweu qart:

TR B SARAI S PRUSUAZERTAR PRI 2
1. AT X

2. A Y

3. Yida ™

4. g

Correct Answer :-

. A

52) el faseu qart:

3 AP Bt faora &1 THER JAH: URda@ma_ r
1. G AT

2. TR H 3TRE SIS

3. A9 & 3 Same

4. 9 & T Seme

Correct Answer :-

. 9 g e

53) Tal fawey Iard;

Ioi1 1 a1 fram Y Iwemseh Sus 2
1. BHE U dd el ST

2. BT IR o gt ot
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3. DT O S To! Tl

4, AP W I Ta] St

Correct Answer :-

o B IR Ta1 el

54) <3 3R <3N P ad
1, TR AR LT

2. QT 3R FaAmT

3. AT ST FHRAT SR WA

4, TRPB 3R e

Correct Answer :-

o TS 31T BT 3R WA

55) fifsar Fafia vl A USRI g8
1. YU

2. FRIagdt

3. A1lE

4. TGS

Correct Answer :-

56) geTax &1 3 Fage

TR | 7TE1 &f g, giear aeft YA P
1. 714 g

2. 39 1 feamar BT

3. B ORE q WU I

4, GHS B

Correct Answer :-

« 3 o1 feamar S|

57) YgTax $1 34 garsa
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«Grag! el HIATI”
1. §gd YHBH|

2. 9gd AR

3. §gd &M

4, 9gd Sie|

Correct Answer :-

58) ‘gerdipa’ H B T THTH 82
1. HUYRY JAN

2. g 99

3. fgy ommg

4, IG2Y AN

Correct Answer :-

59) e ®IT @t gfd 39:
faymd  raged §
1. &A1Y AT

2. Qg T

3. 3ffaferes TG

4, A G TG

Correct Answer :-
. IR T=Y
60) foraw fpaft T BT o= ey & b e B, I/ T PEd &2
1. TS B
2. U] B
3. AET HT
4. T BT

Correct Answer :-
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61) 59 U ! & 9 U 3R e f3u 78 U &1 I«w

Bis! Ad U=l 3|, J Fe g,
HA P 379 W, Hd HH BTS¢ |
3 TR T8 TR $6 WRaT 8,
AT § oI, U9 gt IR "Y1 3

qU T4 W01 & @ WX, TR R Y,
ST g At A A AT =Y

UY: 39 BT HT XM fafag
1. ST

2. 9HS

3. Sita

4.9

Correct Answer :-

62) 3 U B A A U 3R 1= 2T T8 U= #1IwR <

Bis! Ad 3u-L 3|, J Fe g,
HAd P 39 W, Hol AH BT S¢ |
3 TR T8 TR $6 WRaT 8,
AT § o, U9 §t IR "Y1 3

qH T4 W01 & @ WX, T R Y,
ST g At A A AT =AY

Y Jg & fawg o wfa s1 R faar 82

1. 1 BT AT ¢ b TG TP &1 IR 3Tl § 3R ITY ST g1 Afgyl
2. Hfa H1 4 § foh T T &) IR 3ielt § 3R I AT 71fg T

3. B3 BT ¢ f Jg TR-aR 3l § 3R I ST 81 =1

4. BII HTAT ¢ P g TR-IR 3Kl B 3R IV ST 18] AW

Correct Answer :-

. BRI BT S P Jog T € IR 311t § SR ST S31 78] =g
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63) U UL I U A Ue 3R T2 few M yxq 1 3IwR ¢

DSt Ad (U1 3, JH Fe oI,
HA P! 3T W, Hol SH e SY|
3l IR T TR $6 tRAT §,
AT ® ), T &) 9 AT 2

T 94 WRUT & §@ W, TRT R Y,
Gﬁm%a‘rnﬁﬁﬂﬁ:ﬂ‘r‘u

Uy 1 Ufaaa) o1 Mg ford?

1. TS &) ST B Wb gl o+ d1fed, Fifes T IR- SR 31l 8, 399 vaid g1 =nfu|
3R A B ST § Al g B! WRISTd HRap o -1 AR |

2. TS 1 U HTHATTE ! W ST A1fed, ifes g Rt U IR ot 7, 399 yaiia =gt
BT AT | 3R TS ®I FRAT § <l Si1a Bl URIfSTd HRap AT A1fe |

3. TS0 D1 St 3O SR Sl W gl o= dTied, Rifes Gg Rith U aR 3Tl g, S99
ygafid T8t 8T TfRT | SR A &Y i1 © af Heg &1 TR b ST =i |

4. T B HH 3T AT BT W ST 1, Fiifb Jg b U SR 311t 7, I v
el BT T1RT | 3R AT B FRAT § o Yo o TRISTd HReb ST TR

Correct Answer :-

. AT B Hf SUA SHTATH B [IHR A6l o1 A1fed, i Jog R T IR 31l §, S99
ygafid T8t 8T T1fRT | 3R A &Y ST © &l Heg ol ORI b ST =i |

64) SH YUY H! U A U R A1 RE My $13*R &

DS Ad 3MUHT 3, JH Fe wIE,
HA PP 3T W, Hd SH e SY|
3 TR T8 TR $6 WRaAT B,
AT 3 oY, T o1 IR "Xl o

T 94 WRUT & @ W, TRT R Y,
ST @ o FRA A e s % Y

TY: TRV & G TR TROT eRY | Hia T 1 a1ed 82

1. B3 FT A1 ¢ 73 98 Aid I SR A Ag 4w s g

2. TRUI & T TR 9R0T eR) 9 9 &1 dreqd 8 i a8 Hid 9 A1 S g Hid & 3o a2 § 3|
3. TRUT & 0@ IR 9R0T R J Hid T Ay ¢ b a8 1 4 SN foogg oita Dbl 0+ a=1 § x|
4. Td Hg-1 A18dT § D! Al AT HRR § 38 G BT I 5|

Correct Answer :-

« TRUI% TE IR WO R Y B B dred g o ag Hid 3 =1 8% 31fUg Hid D 0= a1 J |
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65) S T P &9 A U¢ 3R - A T8 g9 +13«R <

TP 39 ST Qal F ToR 8T 4TI 391 T § ufgrl & R gu v ¢a | 394 39 vl &Y

FADY TH [HaT| THIAT Ul DI 98 301 TR A AT I GG B TH & S UR JelThR 39T |
mmﬁmﬁmlwwwﬁmmwvﬁmmaﬁ?a—%Mmﬁﬁm
a1 SeTery ufafe =it ave uEl & YT Sear uT| 98 ufafe ufar) #Y ave i taReR
IS BT AW HIAT AT

TY: TGl B sSTerd A fhad fargerar
1. Ul &) SSTerd A HIF J e

2. Ul Bl SSTaY A TG ¥ fgepm|

3. Gl o1 seTad A 9l 9 s

4. U9l 1 STy A I19d 4 fRgem|

Correct Answer :-

. UG @l Sy - 719 9 Ruemn|

66) 3 T P! A9 | U¢ 3R TR R My F13ww ¢

T o1 SSTad @l | o 35T YT 391 IR A uferdl & R gU i ¢ | 394 39 vl 3t
TAD UHA (6411 THHd Ul i 98 U+ TR o T | 39+ UHi &I Th & HUX TP GolTh
@1 bR I 3% A9 4 U 59 YR 391 Ul 31 T SIST 9147 3R 3¢ g afgl A
o foram | STer ufafes st ave U@l & YR Sear UT| 98 ufafe uférl #) avg v
THR®R 381 BT STH HdT UT|

Uy SSTAH = Ul &1 1 fvam?

1. ST A Ul BT Siis] TIaT 3R 3 U1 siig! H & o
2. SSTON A U T SIS ST 3R 378 S0 HER & e feram|
3. SSTAY = UG BT SIIST ST 3R 3% 3701 dlg! & o fera|
4. TSI 3 UG BT SST I1T 3R I8 U1 dia | v fer |

Correct Answer :-

. STEAY A UGl BT SST ST 3R 3% U1 sigt | o foran |

67) 39 el & W | U 3N - R e yxA 13w €
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TS 37 SSTa9 Wal | R T6T 471 391 T 7 uferat & iR gu v 3@ 1 394 39 vl
FAD UHA (5411 THiAda vl 3 98 U+ TR o 31| 39+ Ul &1 T & SHUR TP Aollh
@11 fihr I I A A fusmT | 59 YeR 391 U] &1 TP SisT §9147 3R 3 U1 aigl &
o foram | SeTer ufafe s=ft avg U@l &) YR St AT 98 ufafe uférl @t avg v

TR 3 PT STH HdT UT|

UY: SSTe™ UfafeT <1 Hear 412

1. ST Hfafe YR B! o8 UF TIRSR IS DT 3 Hal Ul
2. SS9 Udfe Ufér o TR U TaR®R 38 Bl W Bl UT|
3. SeIaY Uldfe Iid &1 aRE U TIR®R I8 T 31 Hdl YTl

4. ST Ufdifc BId B ARG UF TR IS BT 3 el AT

Correct Answer :-

. SeIay ufafe uférl &) avg U8 TIR®R IS4 BT 3111 HdT Ul

68) 9 el H! T I U¢ 3T - fau e g7 #13I«R &

TS o1 SSTad @l | T[oR 35T YT 397 IR« A uferdl & R gU i ¢ | 394 39 vl 3t
TAD UHA [64T| THIAd Ul I 98 U+ TR o T 39+ UH| &I Th & SHUR TP AolTh
@1 PR I I A9 @ Ruern| 59 UPR 391 Ul 31 Te SISl 9147 3R 3¢ g aigl A
o foram | SSTer ufafes ot ave vl & YRor Sear UT| 98 ufafe uférl #) avg v
THR®R 381 BT STH HdT UT|

UY:TH AT UEl BT Ssiaw A w1 fosan?
1. THAd UG I 98 TSI & °R o S|
2. UhTAd Ul bl I8 3T TR < (7T

3. UTAd UGl & 98 SR o 3|

4. U1 UGl I 98 Gl o UM of 31|

Correct Answer :-

- T UGl ol 98 310 TR < 3T

69) 3 el &) 19 A U¢ 3R i feu T ymq #13«R &

T o SS9 Wl I o YT 4TI 399 TRd | uféral & iR 3¢ va 3 | 39+ 31 Ui &t
FADR THA f6a1| THfaa vl 31 98 oMU+ TR o ST 394 Ul &1 T & SHUR TP Hollh
T fihe 39 3% 91U A RIUSHT | 39 R 391 UEl &1 TP SIST 171 3R 37 U1 aigl &
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o foram| STy ufafe st avg vl &) YRur #Rdr U1 98 ufafe uféray #t avg g
THR®R 381 BT STH HdT UT|

Uy SSTAH = I H 1 @

1. SSTON A I H I & IR gU I ¢4 |

2. SSTAY A I H UfEdl & iR gU U ¢ |
3. SSTAY A I A U8 R IR §U U@ < |

4, ST - I B YR & R §TUE <9 |

Correct Answer :-

. SSTAY A I | uférdl o R gU e ¢ |

70) 39 UL &) & A U¢ 3R e fu e u=A 1 3@ 3

BIS! Ad U=t 34, F Fe o,
HAd FHI 379 W, U HH B o8|
3 TR 8 IR $6 WRaAT 7,
AT 3 oY, T o1 IR #Xal o

qU T4 ARUT & @ WX, TR R Y,
ST @ @ a1 & AT S A

TY: B FaT IR0 TET 82

1. B A ) gHUS & 1Y o7 1 IR S B |

2. BfY I TS DT ETHH & 1Y S B IRoM < g |
3. Bid T B T P 1Y S HI IROT < B
4. DA Y AT P I & WY S BI OROT Y 7

Correct Answer :-

. B T BT STATHA B I S BT IR0 & 7

Topic:- General English

1) Choose the appropriate articles for the given sentence:

She painted beautiful scenery in water colors while sitting in garden.
1. a, the

2. the, a
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3. the, the
4. an, a

Correct Answer :-

e a,the

2) Choose the appropriate preposition for the given sentence:

You have been learning anew song ___ three days.
1. for

2. since

3. by

4. in

Correct Answer :-

o for

3) Choose the appropriate preposition for the given sentence:

The child is quite cheerful and happy _____ his own.
1. at

2. on

3. with

4, about

Correct Answer :-

4) Choose the appropriate preposition for the given sentence:

The buyers have asked us ____ heavy discounts.
1. at

2. on

3. from

4. for

Correct Answer :-
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5) Choose the appropriate prepositions for the given sentence:

Let'sgo__ thecinema.l haven'tseenafilm___ 1979.
1. to, since

2. with, from

3. on, for

4, for, till

Correct Answer :-
e to, since

6) Choose the appropriate articles for the given sentence:

She went to the market to purchase few groceries and kilogram of apples before
returning home.

1. the, a
2.3,a
3. the, the

4, 3, an

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

Another growth trigger for power sector has been Electricity Act formulated by the
government in 2003.

1. a, the
2. the, the
3. an, the

4. the, an

Correct Answer :-

e the, the
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8) Choose the appropriate usage to fill in the blank:

In spite of the heat, they marched

1. quickly

2. with speed

3. humbly

4, fastly

Correct Answer :-

e quickly

9) Choose the correct form of verb for the given sentence:

It that Lee Harvey Oswald may not have acted alone in the assassination of John Kennedy.

1. believe

2. is the beliefs

3. is believed

4. to believe

Correct Answer :-

e is believed

10) Choose the correct form of verb for the given sentence:

The giraffe survives partly because it
animals have not grazed.

1. must reach

2. is reaching

3. can reach

4. needs to reach

Correct Answer :-

e canreach

the vegetation in the high branches of trees where other

11) Choose the correct form of adverb for the given sentence:

The property was divided

1. definitely

among all his children.
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2. surely

3. fairly

4, infinitely
Correct Answer :-
o fairly

12) Choose the correct form of adverb for the given sentence:

The place where Buddha was cremated has been discovered
1. recently

2. calmly

3. frantically

4, grimly

Correct Answer :-

e recently

13) Choose the correct form of adjective for the given sentence:

You can trust my driver. He is hard working and
1. considerate

2. gentle

3. reliable

4. kind

Correct Answer :-
e reliable

14) Choose the correct form of expression to complete the sentence:

It is difficult to guess what her _______ to the news would be.
1. expressions

2. intention

3. reaction

4, ideas
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Correct Answer :-
e reaction

15) Choose the correct form of expression to complete the sentence:

It is terrible that people should dieof _____
1. starvation

2. fasting

3. starving

4. hungry

Correct Answer :-

e starvation

16) Choose the correct form of adjective for the given sentence:

He didn't know anyone at the wedding

than the bride and the groom.
1. except

2. rather

3. apart

4, other

Correct Answer :-
e other

17) Choose the correct form of modal auxiliary verb for the given sentence:

| have gone if my car had been in a working condition.
1. might

2. may

3. can

4. must

Correct Answer :-
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18) Choose the correct form of tense for the given sentence:

| all mywork and so | am free until Monday.
1. was doing

2. have done

3. am doing

4. had done

Correct Answer :-
¢ have done

19) Choose the correct form of tense for the given sentence:

He __ herein 1955.
1. has been working

2. worked

3. is working

4. works

Correct Answer :-
e worked

20) Choose the correct form of tense for the given sentence:

I'm sorry about this noise you hear. She ____ for a concert.
1. practices

2. is practicing

3. has practiced

4. would practice

Correct Answer :-

e is practicing

21) Choose the most suitable determiner for the given sentence:

To look smarter, wear your dress.

1. white new cotton
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2. new white cotton
3. white cotton new

4, cotton white new

Correct Answer :-

e new white cotton

22) Choose the most suitable determiner for the given sentence:

He is very demanding; | have _______ patience left to deal with him.
1. more

2. no

3. much

4. any

Correct Answer :-

23) Choose the best sentence starter from the given options:

It was a public holiday. All shops were closed.
1. While

2. Asitwasa

3. Justasitwasa

4. Even though

Correct Answer :-
e Asitwasa

24) Choose the appropriate articles for the given sentence:

The BPOs remain popular choice for younger generation as it offers numerous job
opportunities.

1. a, the
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Correct Answer :-

e 3, the

25) Choose the correct form of tense for the given sentence:

Drink your medicine; you much better.
1. will have felt

2. will feel

3. are feeling

4, feel

Correct Answer :-

o will feel

26) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.
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De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: The underlined word, ingenious’ in Paragraph 2 means:
1. Rare

2. Mundane

3. Extraordinary

4. Original

Correct Answer :-

¢ Original

27) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’'s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.
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De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: What is the main function of the Flo?

1. All of the above

2. Lets the rider know whether to slow down, pedal harder only

3. Lets the rider know if he/she has to maintain the same pace only

4. Flo captures the rider’s speed using a radar only

Correct Answer :-

o All of the above

28) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist's dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
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In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.

De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: What is the uniqueness of Utrecht?
1. It is a cyclist’s paradise only

2. Cyclists here get priority only

3. All of the above

4. Four-wheel drivers are considered to be guests only

Correct Answer :-

e All of the above

29) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
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along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.

De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: Why has Flo chosen to flash the image of a cow?

1. Cows are often considered to be speed braking objects on the road.

2. A hare and a turtle are ancient symbols for high speed and slow pace.
3. Cow is the national animal of the country.

4. The Dutchmen worship the cow.

Correct Answer :-

« Cows are often considered to be speed braking objects on the road.

30) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist's dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.
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When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know

that he/she has little choice but to wait it out.

De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: In spite of all facilities provided in Utrecht, what is the major complain of residents?

1. Since 60% of the people use cycles, the place has traffic jams.
2. All of the above.
3. They have to make constant stops at traffic lights.

4. They are demanding special bike tunnels and bridges.

Correct Answer :-

» They have to make constant stops at traffic lights.

Topic:- General Knowledge

1) Find the missing term in the given matrices./ ﬁqwﬁﬁwﬁﬁﬁﬁﬂﬁﬁl

5 5 2
8 3 |10
2 4 1
160 | 120| ?

1. 13

2. 20

3.40

4,12

Correct Answer :-
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2) If the third day of the month was Monday, then which day will fall on

fourth day after 215t?/ Ife 48 &1 T o7 QAR U1, @t 213 T F T A NuTfeq
P19 9T gN?

1. Wednesday/ 9YdR
2. Tuesday/ HITEAR

3. Friday/ [shdRR
4, Monday/FﬁTITﬂ?

Correct Answer :-

« Tuesday/ HAdR

3) In the following question, select the related letter/word/number from the

given alternatives./Afufad uza # fau e faeeu & A IafRa iR/ A4S

gHu|

AB:12 ::EF:?

1.31
2. 46
3.42

4. 56

Correct Answer :-

4) In the following question, select the related letter/word/number from the

given alternatives./ fAAfRad U= # fou e faweul d A TR sieR/r=AS 3

g

BRAIN : THOUGHT::/ a9 : faar ::
1. Stomach : Hunger/ U< : 9

2. Sky : Lighting/ 3T : =T

3. Electricity : Dynamo/ ﬁgq?r . SIAA

4. Water : Steam/ 9id : di

Correct Answer :-

« Stomach : Hunger/ U< : g
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DIRECTIONS: Solve the alphanumeric series given below:/ fad=: T-ﬁaiﬁTr?fa{&R
gaar Aufl B g BY:

J6X, L12V, 020T, S30R, ?

1. X42P
2. X40P
3.Y42P

4.Y40P

Correct Answer :-

« X42P

6) Select the correct combination of mathematical signs to replace * signs

and to balance the given equation./ * f2Ig ®) sgaq & forg oiiv few e giwur &1
Hqferd @ & fore i ddal &1 98! Saier T g |

28 ¥ 4 * 9 *x 16

7) Which of the following is the greatest fraction? /= & & ¥ 98I T S H 82

=
[« AT

=1 | ba s | L

il

4,

Correct Answer :-
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8) Which figure represents the exact relationship with the variables given in

questions? /®IFI TP wy H foT v srqual & Hf¥a day ) gxiidi 82

©
00 - 0D

Teacher, Writer, Philosopher/ f1&/®, da®, gRife

(A)

1.D
2.B
3.C

4. A

Correct Answer :-

« A

9) Umesh is taller than Satish, Suresh is shorter than Neeraj but taller than
Umesh. Who is the tallest among them?/ 381, Tl &1 &1 & @31 3, I, IRl
B g1 A BT 3 W I TE1 8 | 370 T a1 HI 82

1. Neeraj/=Rsdl
2. Suresh/w
3. Umesh/301
4. Satish/IdI=T

Correct Answer :-

. Neeraj/:ﬂ?Tr[

10) Mehrunnisa is eleventh from both end of a row comprising of girls. How

many girls are there in the row?/ ﬁﬂmﬂmﬁwﬁﬁﬁ@?ﬁwﬁ
R R g1 ufda # fral asferar 82

1. Nineteen/ 3319
2. Twenty-one/ 3d® g

3. Twenty-two/ d159

4. Twenty/ &I
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Correct Answer :-

. Twenty-one/s?iaﬂ?

11) Point out the letter which represents both Indians and historians but not
Politicians on the basis of these three circles./ $9 @9l g & TR R I g0 B

ST o ot URAI 3R sfAgTa®RI I & g=Ifar § W IeTdarsi &t =181 |

1. Only b/ %dd b
2. Only f/ &ad f
3.bandf/ b 3R f
4.band g/ b 3R g

Correct Answer :-

« Only b/ %ad b

12) ‘Swaraj is my birthright and I shall have it’, this is a famous saying by -

/RIS TRT SR SRR € SR A 58 a@x g, fovw uflrs aafaa 3 wet U?
1. Bal Gangadhar Tilak/ aTcT TR el

2. Netaji Subhas Chandra Bose/ AdTsll §HIN 9% S

3. Jawaharlal Nehru/ STATER dTd A8

4. Gopal Krishna Gokhale/ TUTel $WT TRl

Correct Answer :-
. Bal Gangadhar Tilak/ STd 7iTeR fade

13) The cost price of 400 lemons is equal to the selling price of 320 lemons,
then the profit percent is:/400 g3 &1 Haged 320 s & 4. 4, F R g, ot
ufer=rd a1y 91d $

1. 20%
2. 40%

3.25%
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4. 15%

Correct Answer :-

e 25%

14) The Betul district is the source of the River - / 3q@ fora #14- W 7 &1 A4

2

1. Tapti/?rrl«_-ﬁ

2. Machna/ {31
3. Beas/aﬂ

4. Tawa/ ddl

Correct Answer :-

« Tapti/ aT&it

15) Which country is called the ‘Sugar Bowl of the World'?/ fra o 'fay &1
TP BT HERT' BT ATl 82

1. Brazil/ SoTd
2. Ghana/ Y-l

3. Cuba/ &4l
4, Peru/ﬂ?g

Correct Answer :-

16) 4 bells ring at intervals of 30 minutes, 1 hour, 1 hour 30 minutes and 1
hour 45 minutes respectively. All the bells ring simultaneously at 12 noon.
They will again ring simultaneously at:/4 gfeai $4=1: 30 e, 1 deT, 1 9e130
e quT 1 YeT 45 e & siavTa WR ol 31 9t efeaf v a1y 12 s glugR A weit ), at
U: TP 91Y Hd goliir?

1.9 am./ Jdigd 9 &l
2.3 a.m./ Jdigd 3 T4

3.6 a.m./ Qale 6 q
4.12 a.m./ qdlgd 12 &

Correct Answer :-

« 9 am./ Jalgd 9 &l
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17) The folk songs of Birha is sung in the region of — / fSRgT &% Ma #1H- T & A
TITT SATeT 82

1. Malwa/ HIddl

2. None of these/ sqﬁ@r?ﬁ'sc:@
3. Baghelkhand/ SUeRaUs

4. Bundelkhand/ §¢a@s

Correct Answer :-

. Baghelkhand/ SUeRaUS

18) In a certain code 'SUBJECT' is written as 'ATRIUDF'. How is ORDINAL
written in that code?/ T fAf3d % § 'SUBJECT' &1 'ATRIUDF' for@rwiran @ | ot St
PCUTHT H "ORDINAL' &t {61 U ferar s

1. CQNHBMO
2. ESFHMBO
3. CQNHMBO
4. NQCHMBO

Correct Answer :-

« CQNHMBO

19) Where is the Kala Vithika situated?/ &dT difi®T Hgl fRd 82
1. Indore/'a“cﬁ?

2. Gwalior/ TfeR

3. Bhopal/ T

4, Jabalpur/ Iy}
Correct Answer :-

. Gwalior/ TaIfeiR

20) Who was the first Gupta ruler?/ Y4 & RIH B A?
1. Samudragupta/ &t

2. Chandragupta ‘Vikramaditya’/ I&w faspaTiea

3. Chandragupta/ I
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4. Kumaragupta/ $HRIW
Correct Answer :-

« Chandragupta/ 97«

GET IT ON
Google Play

21) When was Dindori declared as a separate district?/ f$S18 & sra foren o9

v fosar T ur?

1. 1996
2. 1997
3.1999

4. 1998

Correct Answer :-

« 1998

22) When was the Anglo-Bhopal treaty signed between the East India
Company and Nawab Nazar Muhammad?/ $3¢ 341 $U-t 3R 7419 7ok JeWie &

S Te-viuTe A 1R g d1eR o fhd e 32

1.1818
2.1817
3.1819

4. 1816

Correct Answer :-

- 1818

23) What is the capital of Vietnam?/ fQgaamd 91 Ieur= #ar 82

1. Lusaka/ qHIhT
2. Nicosia/ﬁﬁﬁﬂﬂ

3. Hanoi/ 6-‘-] 's‘
4. Caracas/ IDHY

Correct Answer :-

. Hanoi/BTﬁsc
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If a train with a speed of 60 km/ hr crosses a pole in 30 seconds, then length
of the train (in metres) is:/60 fHi/ger #1 Tfd A Tad T TH VAS! TP @ B UR
B A 30 APHUS BT U Al 8 1 ISt B TaTg Hiex & Fargd |

1. 750
2. 1000
3. 500

4. 900

Correct Answer :-

* 500

25) Swarnakars of Tikamgarh trace their origin to the city of ./

fepmiTg o1 WUER WU F PH- | e B IRy S IR H qATd 82
1. Lucknow/ @13

2. None of these/ STH I ®Ig gl

3. Ayodhya/ 3T

4. Ujjain/ I

Correct Answer :-

« Ayodhya/ 3maredt

26) Simplify: /9 B

1 1
(625)7 x (0.0144)7 +1
1 1 =

(0.027)3 x (81)%


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

27) The radius of a circular wheel is 1.75 m. The number of revolutions it will

22
”“:?)/Wq;nwfeﬁaaaw 1.75 MR 111

22

Reefl T & TR gRT a9 i TR TewT A IO 3 B (=7

1. 800

U
make in travelling 11 km is: (

2.1200
3. 1000

4. 900

Correct Answer :-

« 1000

28) By whom is the Advocate-General of the states appointed?/ IS4l b

HgTTaddn &1 forad gRT fFrge far simar 32
1. President of India/ lﬂ?ﬁ%ﬂgﬁﬁf

2. Governor of the state/ I & T
3. Chief Minister of the state/ o9 & GBI

4, Chief Justice of India/ W%H@IW‘&T&T

Correct Answer :-

« Governor of the state/ I & TSI

29) Shah Jehan Begum was the ruler of Bhopal./ QM8 SH HIUTH &
UAN® A1

1. Sixth/ ®3d

2. Seventh/ ITdd
3. Eighth/ 3T&d
4. Ninth/ 9id

Correct Answer :-

« Eighth/ 31&d

30) The average of 10 numbers is calculated as 15. It is found later on that
while calculating the average, one number namely 36 was wrongly read as
26. The correct average is:/10 TEail &1 eiad ISSITHﬁWITTITITI EITE.’ffilTH'g'Glea?
NI JTd B THY, TP BT 36 P T W 26 3ifhd H <1 T | TSt 3N J1d B1|
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1. 20
2. 16
3.14

4. 18

Correct Answer :-

31) If in a certain code language, SHIFT is coded as RFFBO, then which word
would be coded as LKUMB?/ afe t® ff¥d e 4ToT #, SHIFT ®1%< & RFFBO, a9
5 71 BT B LKUMB FIT &1 9T 82

1. KJVLA
2. KIRIW
3. MLVNC

4. MJVLC

Correct Answer :-

« KIRIW

32) How many natural regions is the Madhya Pradesh state divided into?/

T YR ISy @ foraq urpfae e ® favnfora fear man 82
1.8

2.9

3.11

4. 10

Correct Answer :-

33) How many states does Madhya Pradesh border?/ USRI fhde 30l & I1Y
AT T3 Hear 32

1.4
2.7
3.6

4.5
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Correct Answer :-

34) By selling an article for Rs.72 there is a loss of 10%. In order to gain
5%%o, its selling price should be:/ EEF?ﬂﬂﬂﬁ 72 08 H 991 WR 10% Bt E‘I‘ﬁﬁ?ﬁ%l
5% T HH & g 39 forw fvma R sa-n aifge?

1. Rs.85
2. Rs.84
3. Rs.80

4, Rs.87

Correct Answer :-

e Rs.84

35) Which of the following soils is not found in Madhya Pradesh?/ A sNa
M go1 wem weRr § 1Y feredt 82

1. Arid Soil/ I el
2. Red Soil/ @Td JaT

3. Laterite Soil/ Wexge gar
4. Black Soil/ ®Tell Gal

Correct Answer :-

« Arid Soil/ 5 TaT

36) Which of the following are nationalized forest produce of Madhya

Pradesh?/ fufufEd # & 7o vaw & Wgiagd 991 § faer e fear smare?
1. None of the above/ IWRId H & BIs Tg!

2. Both of the above/G'CIﬁHH?ﬁ:ﬁ

3. Sal seed/ el & ©iel

4, Tendu Leaf/ ?@ZU?H

Correct Answer :-

« Both of the above/B“CIﬁHﬁEﬁ:ﬁ
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Which of the following is a popular dance-form of the Gond tribals?/

fFrafafed & @ o=-a1 Mis snfeariRal &1 deih Ta-Fu 82
1. Karma/ &1

2. Thaapti/ﬁﬂ?ﬁ

3. Lehangi/ﬂé’Tﬁ

4. Pardhauni/ TR

Correct Answer :-

. Karma/w

38) General Dost Mohammed Khan was a/an ./ aﬁwﬁmm
TH O

1. Iranian/ é?l;i
2. Afghan/ WL
3. Mongolian/ Hiferad

4. Turk/ @%

Correct Answer :-

« Afghan/ 3T

39) A can do a piece of work in 4 days and B can do it in 12 days. In how
many days will they finish the work, both working together?/A fodt pTH BT 4
fa o aur B SA w1 o1 12 G A B I d 8, A S Frare? v 1y St v &1 fapaq fam
T G B2

1. 4 days/4 fe=
2. 2 days/2 faa
3. 3 days/3 fa
4. 6 days/6 fa
Correct Answer :-
. 3 days/3feq

40) If 'ROSE' is coded as '6821', 'CHAIR' is coded as '73456' and 'PREACH' is
coded as '961473’', then what will be the code of 'SEARCH'?/ gfe 'ROSE' &I
'6821' Hfed fFaT AT 8, 'CHAIR' @1 '73456' Hfcd a1 9a1 @ iR 'PREACH' &1
'961473"' Fied f&ar omar 8 a9l 'SEARCH' &1 %e FI1ghI ?

1.216473
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2.214673
3.246173
4. 214763

Correct Answer :-

« 214673

41) 5 years ago, the average age of P and Q was 15 years. Average age of P,
Q and R today is 20 years. How old will R be after 10 years?/ 5 9§ Ugad P 3R Q
Bt 3faa 3y 15 a9 ot 1 P, Q 3R R Tt adu 3iaa 3mg 20 a9 31 10 99 91¢ R Y Mg 1
DY

1. 50 years/50 a§

2. 30 years/30 I

3.40 years/40fﬂif

4. 35 years/35 a4

Correct Answer :-

« 30 years/30 39

42) When is the Louis Braille Day celebrated?/ 3 S faa¥1 &a U141 ST 32
1. 4" January/4 S
2. 2" January/2 SR
3. 8th January/8 SHa
4. 6t" January/6 SFERY

Correct Answer :-

. 4th January/4 SHaRT

43) Madhya Pradesh’s Mrinal Pandey is associated with the profession of - /

TSR B YUITH UIS PIH- & a9 A TR 32
1. Scientific Research/ d3A® S ERUIE]

2. Journalism/ GABIRAT

3. Astronomy/ @d-faFT

4. Singing/ A4
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Correct Answer :-

. Journalism/ TIHIRAT

44) If 10% of m is the same as 20% of n, then m : n is equal to:/df¢ m &1
10%, n ¥ 20% P RIS T, dI m : n BT HE T ERM?

1.2:1
2.1:20
3.1:5

4,1:10

Correct Answer :-

« 2:1

45) A copper wire is bent in the shape of a square of area 81 cm?. If the
same wire is bent in the form of a semicircle, the radius (in cm) of the

22
semicircle is (MEﬂ - 7)/Waﬂﬂﬁwﬁ%wﬁﬁﬁwmﬂ?{;ﬁ;ﬂm81 He?|
T3 Sef AR Bt srefga F wu F HeT N, @ srsfga A s @ AR (==7)
1.7
2. 126
3. 10
4. 14

Correct Answer :-

46) A number is doubled and 9 is added. If the resultant is tripled, it
becomes 75. What is that number?/ T& IBIT B GRAT 3P ITH 9 ST Wrar 3| afe
gf¥omd &) fiF AT R T, 99 YW1 75 & SRR B STl 3] HBAT 3

1.12
2.3.5
3.6

4.8

Correct Answer :-

e 8
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47) A, B and C invest Rs.47,000 in a business. If A invest Rs.7,000 more than
B and B invest Rs.5,000 more than C, then out of total profit of Rs.4700, C
receives:/ A, B 3 C 3 T& STUR H $ 47000 =T B Yol = @11 afe A = B J 7000
T 3fUFH YT B 7 € T 5,000 &I 3P o= by, at 4700 0 & $a a1y & ¢ &1 fgw=an
T B

1. None of thesefsﬂﬁﬁﬂﬁ'&cﬂﬁ

2. Rs.1200

3. Rs.4500

4. Rs.1000

Correct Answer :-

« Rs.1000

48) 1¢ Np;= "p,, then find the value of n./df¢ "P;= "p, B, dl n &1 A J1d PIfe|
1.3
2.7
3.9

4.5

Correct Answer :-

« 3

49) 1
A truck travels at 90 km/hr for the first 12 hours. After that it trvels at 70

km/hr. Find the time taken by the truck to travel 310 kilometres./T® ¢bh 90
1

il eieT o 1fa A UEd 12 Y0 q T 3 1 3P 1% 98 70 friiaer FY nfa A g 31 e B
310 feh 3t g8 T A H o fva=m Iw7g Tm?

1.4 hrs/ 4 9¢
2.3 hrs/3‘€i%
3.2.5 hrs/2.54¢

4.3.5 hrs/354¢

Correct Answer :-

« 4 hrs/44c
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Where was Chandu Sarwate born?/ a‘gma%mwaﬁ‘r’gan Yr?
1. Sagar/ 9 R

2. Gwalior/ TaTferiR

3. Bhopal/ HraTd

4. Rewa/ﬁﬁT

Correct Answer :-
« Sagar/ dMR

51) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi’QT: T-ﬁ%ﬁ"!‘TEWﬁWﬁW 3R IqH
91¢ 0 fswd far 7T § 1 smus! AT T =) &) I U1 € Ha 8 9 gdya 9 | e
wofta i 8 | 9t frsput ) ufew fir o sifore % faw e freut & @ w-ar e few e
FYA BT TGN $U I SRV BT 3, TTe Fdgrd a2 $o W 8

Statements:/ ®Y:

Some trains are buses./ Wa‘vl, T eI

Some buses are goats./ $O I8, THRAT |

Some goats are trees./ WW, ﬁg%l

Conclusions:/ fsst:

I. Some trees are trains./ $3 US, 2|

II. No bus is train./ aﬁéaﬁ, ﬁ?ﬁ%l

1. If neither Conclusion I nor II follows/af& 7 fAsws 1 7 & 11 3IERUI el &
2. If only Conclusion II foIIows/H%ao_clﬁﬁWEfII &WW%

3. If only Conclusion I foIIows/@WﬁWﬁI WW%

4. If either Conclusion I or II foIIows/HTFﬁﬁlEbeI gqr 11 &@TUTW%

Correct Answer :-

« If neither Conclusion I nor II follows/afe 7 fAswY 1 T €} 11 TR w1 §

52) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,

disregarding commonly known facts./ﬁi’ﬂ: T-ﬂ%ﬁ'E‘TEWﬁWEWq 3R IqH
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1 $ fspd f3r 1T &1 3mu! fT T wy= &1 I AT @ Y €1 3 wdwra a3 e
Udid gid g1 9+t et 1 ufeu fibr au Fifeme f fau e faseul & ¥ Hi9-ar1 fasey faw e
FYI BT IHUNT TU I STV HIAT 8, T8 TI7d 99 59 W 7|

Statements: /HY:

Some cars are buildings./ P9 ¥R, E'H'R?r%l

All buildings are trucks./ 94 3URd, ¢& €|

Some trucks are tins./ $8 ¢®, 81

Conclusions:/ fs:

I. Some cars are trucks./ P9 ®R, W%'I

II. Some tins are trucks./ 3o feH, ¢@ B

1. Only Conclusion I foIIows/%Ffﬁﬁ@FﬁfI HERZITUTW%‘

2. Either Conclusion I or II follows/dT df fshS I AT 11 WW%
3. Only Conclusion II foIIows/WﬁEﬁﬁfH &WW%

4. Both Conclusions I and II foIIow/Eﬁ:ﬁﬁEﬂf&lﬂﬂWW%

Correct Answer :-
« Both Conclusions I and II foIIow/Eﬁ:ﬁﬁEﬁEf\HﬂﬂTUTW%

53) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%ﬂ: :ﬁ%ﬁquﬁW$W MR TP
91¢ 9 ey fau e §1 MU AT T =) @ I =1 8 Ha 81 3 gdyma g | e
Udid gid g1 9+t et 1 ufeu fibr au Fifeme f fau e faseul & ¥ H19-a1 fased fee e
FY BT IHUT TU I STV HIAT 8, T8 TI7d 9 59 W 7

Statements:/ ®Y:

Some tins are round./ S fe, Ma §

Some cups are round./ $9 $U, Tﬁ?r%'l

Conclusion:/ frsp:

I. Some tins are cups./ S fe-, FUEI

II. All rounds are cups./ Hﬂ-ﬁTﬁﬁ, W%'I

1. If neither conclusion I nor II foIIows/U%qﬁ&beI TgIII &WW%
2. If only conclusion I foIIows/H%aﬁlﬁﬁEFEfI &WW%

3. If only conclusion II foIIows/Uﬁmﬁf&'ﬂfH B@TUTW%
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4. If either conclusion I or II follows/ Tfg a1l fAHY I AT 1T R0 BT &

Correct Answer :-

« If neither conclusion I nor II follows/ afe = FsHY I 7 11 SR FHRlT §

54) In which year was the Central Province formed?/ %14 Uid &1 64 fod af o
gamuT?

1.1861
2. 1863
3.1862

4. 1860

Correct Answer :-
« 1861

55) In which year was the New Bank Note Paper Line Unit inaugurated in

Hoshangabad?/ BTG # 93 9% Ale UWR A3 G- T 3qute fh ay gaim 41?2
1.2016
2.2014
3.2015

4. 2013

Correct Answer :-
« 2015

56) In which district is the Fair of Dhamoni Urs held?/ YTHIH 3 4 &1 M
FH-A R A a1 8?

1. Sagar/ 9 R

2. Narsinghpur/ RIS
3. Mandsaur/IiE@T

4. Rewa/ a1

Correct Answer :-

o Sagar/d"R
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The book ‘Chahar Chaman'’ is a history of the rule of - / 'dg Jd" Wﬁ'
fpas AP 1 5fdeTH 82

1. Aurangzeb/ AMRToIS
2. Shah Jahan/ QTgTgl
3. Jehangir/ S8R

4. Akbar/ 3da}

Correct Answer :-

« Shah Jahan/ Qgigt

58) At what rate per cent per annum will Rs.8000 amount to Rs.8820 in 2

years at compound interest?/ mwm@maﬁaﬁ 8000 =Y 2 T4 H 8820
FU g STE?

1. 8%
2.9%
3.7%

4. 5%

Correct Answer :-

« 5%

59) At what rate percent per annum will the simple interest on a sum of
money be 2/5 of the principal in 10 years? /¥ aiftfe ufa=ra s &1 3w A fedt
IRT BT 10 TUT & ATUROT TS AU BT 2/5 G2

1.4%

"
=

2. 650/0

3.6%

4. 53%

Correct Answer :-
e 4%

60) 180 x 15 — 12 x 20 __
140 X 8 + 2 X 55

1.4
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== N

LA o

Correct Answer :-

e 2

61) 4* x 24°
EC

4. 32

Correct Answer :-

62) How many pairs of letters are there in the word " HORIZON' each of which has as many letters
between them in the word as in the alphabet?/Re "HORIZON' s | Gf&lﬁ & 'Q"\Q fa qH %ﬁf‘"ﬁ;
¥ I B 31&R 3T &, o= Sidish qufaren # sma 82

1. One/ Udh
2. Three/ dH
3. Four/ IR

4. Two/ ar

Correct Answer :-

63) IfA:B=3:2and B: C=3:4then A : Cis equal to:/Af¢ A : B=3:23RB:C=3: 48V A:
C Jd B3I

1.2:3
2.1:2

3.4:5
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4.9:8

Correct Answer :-

64) CANCELLED

Normally the numbers of isotopes in which hydrogen can exist are?/ dTH:

TRV & Rpaa WU U W &
1.1
2.4
3.2

4.3

Correct Answer :-

.« 2

65) DIRECTIONS: Choose the odd one out from the given group of letters./
e sierY & faw 1T Te | faww ug & g

1. ADBEC
2. KNLOM
3. FIGJH

4. PRTSQ

Correct Answer :-

66) Dhanesh walks 50 m east and then he turns to his right and walks 30
metres. Now, in which is he from his starting point?/%ﬁ?ﬂ 50 ﬁqﬁﬁéﬁ?m%
IR 98 ST gar @ 3k 30 it gaar 81 3 98 Rfi® fig A fra e A @2

1. South-west/af&m0-gf3H
2. South-east/f&mor.qd
3. North-east/BﬁT-tlﬁ

4. North-west/IcR-uf2d

Correct Answer :-

« South-east/f01.qd
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67) A mixture of 70 liters of wine and water contain 10% water. How much
more water should be added to the mixture to make 37% water in the resulting

mixture?/70 e Ui 3R IR & FAYT & 10% T g1 59 fAryor A foea=m urht ok fereman
wTe 3 ¥ fasor & 37% urt gf g2

1. 27 litres/27 IR
2. 18.9 litres/18.9 qrex
3. 30 litres/30 qreY

4, 37 liters/37 e

Correct Answer :-

e 30 litres/30 e

68) Name the paradox which states that “an object can float in a quantity of
water that has less volume than the object itself, if its average density is
less than that of water.”/ ﬁﬁﬁﬁﬁqwmwmﬁﬁ“ﬁwﬁﬁﬁ%
a1 g, s Taa+T 39% §RT g T d & STaa-T A U gia1 § auT SI®T 39d g
o § $U g8

1. Hawking’s Paradox/ glfd &1 RIgId

2. Carroll’s Paradox / aId &1 g

3. Aristotle’s Wheel Paradox/ &Rﬁﬁq%ﬁﬁﬁlq—sﬂ?f
4. Archimedes Paradox/ 3f& e &1 Rigra

Correct Answer :-

« Archimedes Paradox/ 3 fhfree &1 RiGrd

69) Gasoline is the name given to the same substance as?/ Trer fa uerd &1
gaRT A At

1. Diesel oil/Std dd
2. Natural gas/ Wﬁﬂ
3. Petrol/ UCId

4, Crude oil/ HT dd

Correct Answer :-

« Petrol/ ﬁrcﬁa

70) Vitamin ‘C’ is?/ facifim @ &2
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1. Lactic acid/ dfdesd 3

2. Citric acid/ fifd® s

3. Ascorbic acid/ TXPIad 3T
4. Acetic acid/ THIfCH 3w

Correct Answer :-

« Ascorbic acid/ T&hIlad 3T

71) Foot and mouth disease occurs in?/ & 3 IR SR fras! gl &:
1. Cattle and sheep/ YT} JUT HE DI

2. Cattle and pigs/ a‘rcra’fa%nﬁ&wa%

3. All of the above / IWRIa FHi &I

4. Cattle/ dIUdl I

Correct Answer :-

« All of the above / IR G

72) Malaria can be cured with a drug extracted from?/ Hafar &1 f&y siufy &
Iy farar o g 3

1. Belladonna tree/ a@@ﬂﬁg
2. Amaltas tree/ &Wﬁs

3. Oak tree/ Sqd US (31dh)
4, Cinchona tree/ ﬁmﬁmﬂg

Correct Answer :-

« Cinchona tree/ RA®HTTS

73) When the velocity of a body is doubled its?/ mﬁﬁsmhmwaﬁ%
qad?

1. Momentum is double/ TaT gIAT Bl STTd &

2. Kinetic energy is doubled/ Tﬁﬁ%ﬁg’ﬂ:ﬁﬁ\m’cﬁ%

3. Acceleration is doubled/ @RUT g &1 ST §

4. Potential energy is doubled/ WW@@W%

Correct Answer :-
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« Momentum is double/ T AT &1 ST §

GET IT ON
Google Play

74) In hospitals, the oxygen tubes for respiration contain oxygen and?/

SReTet § SHTRfter el & SiferfterT & w1y SR H1 A7 gl B
1. Argon/ 3

2. Carbon dioxide/ BTETSSHIRIZS

3. Helium/ giferad

4. Nitrogen/ ?I%‘;ﬁ\_ﬂ

Correct Answer :-

. Helium/ sifcad

75) DIRECTIONS: Arrange the following in a meaningful order:/ = @t

T 3yl vy ¥ sqafed & |
1. Curd/ aﬁ

2. Grass/ 4™

3. Milk/ g4

4. Cow/ T

1.2, 4, 3,
2.3, 2,4,
34,1, 2,
4.4, 2, 3,

Correct Answer :-

1
1
3

1

76) Heavenly matter landing on the earth’s surface is known as?/ T% URI

Terd gl Y Hag TR 31T & SN T HET oIl 3
1. Meteorite/ I fUs

2. Shooting star/ gcdi dRT

3. UFO/ qu®m3h

4. Galaxy/ Treterg

Correct Answer :-

« Meteorite/ Icdml US
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77) An electrical appliance is earthed to?/ T® faegd Susvl 1 ga=m uifiq far
STt & FNfe?

1. Reduce consumption/ STHTT &H HIA & g

2. Prevent shocks/ eI - & g

3. Protect the appliance against any damage/ JUBU B foh ! TRIS F §9H Y Jh & [o1Q
4. Avoid short-circuiting/ WW@"TW%W

Correct Answer :-

» Protect the appliance against any damage/ JUHR] & fpal BRI T F9MH I b & o

78) Pollination by insects is called?/ ﬁa‘rmﬁﬁwwm%
1. Entomophily/ TciHifthat

2. Hydrophily/ gTgsifthidl

3. Arnithophily/ Sfffthett

4. Anemophily/ T

Correct Answer :-

« Entomophily/ TerHifthelt

79) Solar energy is converted into ATP in?/ | &t &1 T} # Sgar oirar @ fery
DIRBIT H?

1. Chloroplast/ gRd da®

2. Mitochondria/ Hﬁaﬁ%m

3. Peroxisomes/ WRIfFTH

4, Ribosome/ ﬂ%‘@ﬁ@ﬂ

Correct Answer :-
« Chloroplast/ gRd da®

80) The function of a moderator in a nuclear reactor is?/ &l AfYSTT GaT A
e BT TSR gl g

1. To moderate the number of secondary nuclei/ fgda® AN o T HH HA A
2. To control the fission reaction/ faGs ! fohar & Fifd HRar g
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3. To increase the number of fissile (or fissionable) nuclei/ %ﬂq%m@qﬂ?ﬁ[mﬁ-@aﬁ
=1 ¢ & fore

4. To slow down the secondary neutrons/ %W%aﬁ T B H ST BT 8

Correct Answer :-

« To slow down the secondary neutrons/ %W:@"fﬂaﬁ ot H B ST I 8
81) Which of the following is a semiconductor?/ 9 # & &9 91 & 3rtfare® &:
1. Glass/ ®id

2. Silicon/ IRINCAE]

3. Wood/ dde!

4. Phosphorus/ BRBRY

Correct Answer :-

« Silicon/ IRINCAG]

82) People who consume maize as the main cereal in their diet are

susceptible to?/ at TN o HFH P G TS A A 3 I DI I B FHHT 81 bl 3:
1. Kwashiorkor/ HIITIREY

2. Pellagra/ BRIPI

3. Scurvy/ Whdf

4. Beri-beri/ sSRT &

Correct Answer :-

. Beri-beri/ S’

83) Petroleum is found in?/ ﬁ@ﬁmmmﬁﬁﬁﬁwm%‘?
1. Marshy land/ Toedl

2. Igneous rocks/ 3T A

3. Sedimentary rocks/ 3fauTe A

4. Metamorphic rocks/ =UidRd 2

Correct Answer :-

« Sedimentary rocks/ 3fqTe R
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84) The science dealing with the study of phenomena at very low
temperatures is known as?/ @RIE FH ATTHMN & RIGT B AT BT HodTdl o

1. Frocenics/ BIRRI®

2. Cryogenics/ STaSI-a
3. Refrigenics/ JWpiol—ad
4, Cytogenics/ B IEESIRES]

Correct Answer :-

« Cryogenics/ ShaNIHE

85) Taiga represents?/ &7 f&d yelia Har g:

1. The grass land / W‘Eﬁﬂﬁ ﬁalﬂ

2. A fossil of an extinct species of tiger/ wﬁrﬁa‘rﬁwm%ﬂm

3. A genus of tiger facing extinction/ U T8 &1 JUYGHTd S fIGftd & Wak TR 8

4. Coniferous forests/ QYR o

Correct Answer :-

. Coniferous forests/ GURI a1

86) A person rode his bicycle northwards, then turned left and rode 1km and
again turned left and rode 2 km. He found himself exactly 1km west of his
starting point. How far did he ride northwards initially?/ Qﬂ??ﬂ‘%e{m
arsfera = fezm & gamdt fibr art got ik 1 .. 7er ik fhe 9 ¢ g1 3k 2 ..
AT 98 T4 Pt TP URIUD fovg & ufdm ez & 1 {5 f. gz urar 71 98 Wy ¥ SR faznm ot
3R frait ¥ @ aar?

1.1 km/ 1 f&Hh,
2.4 km/ 4 f& 4.
3.3 km/ 3 fbH.
4.2 km/ 2 T,

Correct Answer :-

e 2 km/ 2 fo L

87) A person with blood group AB is sometimes called a universal recipient

because of?/ AB & THg aTdl e &1 Td ATE! HJT SITeT 3 b2
1. Lack of antibodies/ TR TSISH qufRd g1t &
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2. Lack of antigens/ G&IS &1 &I gl &
3. Lack of both antigens and antibodies/ T¢I g UeIaITSH g AT 8T &
4. The presence of antibodies/ ITH IS IUFRA Bt &

Correct Answer :-

« Lack of antibodies/ ITH USISH IufRd gl &

88) A's father is B's son-in-law. C, who is the sister of A, is daughter of P.
How is P related to B?/ A & fUdiB TG g1 C, St fF A F 988, PSITRRIP, B
I HY gafta g2

1. Daughter/E[Eﬁ

2. Daughter-in-law/dg

3. Son-in-law/<THIq

4. Can't be determined/3Td 78! fobdT ST Hehdll

Correct Answer :-

. Can't be determined/3Td T foodT ST Ghdl

89) Lucerne is a?/®& N & UH:
1. Stem crop/ d1 ®dd

2. Foliage crop/ I o

3. Root crop/ g A

4. Fungus/ Udh &dh

Correct Answer :-
« Foliage crop/ U

90) A and B can complete a piece of work in 15 days and 10 days respectively.
They contracted to complete the work for Rs.30,000. The share of A in the
contracted money will be:/ A 3R B f&ft &1 &) swwr:15 fa= aur 10 R A @A B
m%émafaﬁ Rs.30,000 ¥ TP T &) WeH H BT S o, al pa AT A A A &1 i
foamm g

1. Rs.16,500
2. Rs.18,000
3. Rs.12,000

4. Rs.12,500


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Correct Answer :-

« Rs.12,000
91) A rainbow is formed by the Of light by water droplets?/ $a4q4
1 fAmfor & PRUT I DI gai W USRI USH & ghaT &

1. Total internal reflection/ guf 3fiaRe® WRad—

2. Scattering/ THerT

3. Dispersion and total internal reflection/ ﬁawawquf&mwa?&r
4. Dispersion/ fa&qur

Correct Answer :-

« Dispersion and total internal reflection/ fa&mur qu1 quf 3fidRk® wRiad=

92) How many rectangles are there in the following figure?/ ﬁaawﬁrﬁanuﬁ

@1 W frat 32
B C =
il L
H G .
1.9
2.7
3.8
4.6

Correct Answer :-

93) The branch of chemistry dealing with the accurate determination of the
amounts of various substance is called?/ IUIARI $1 98 B! URaT § foraA gd
gerd &t 9T BT Semud Hd 82

1. Inorganic chemistry / 3[BT T
2. Analytical chemistry / f[aRaSd® M=
3. Bio chemistry / Sid Tg1a4

4. Organometallic chemistry/ TdeTfa® I

Correct Answer :-
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« Analytical chemistry / fo=asidr® ™A

GET IT ON
Google Play

1. 144°

2.132°
3.96°

4, 48°

Correct Answer :-

« 132°

95) The compound used as an anti-malarial drug is?/ &9 Qe ufa wafear

3ftuft & = & Iy faar S 3
1. Neoprene/ BRG]

2. Aspirin/ TIUIRA

3. Hydroquinone/ EE@W?

4. Chloroquine/ a%hﬂagsq

Correct Answer :-

« Chloroquine/ a?ﬁﬁagsq

96) Perspiration is maximum when?/ TAT Gaifis &a AT 8?
1. Temperature is high and air is dry/ WW@HNWW@

2. Temperature is high and air is humid/ QI 3% g1 TUT gaT 311 &l
3. Temperature is low and air is dry/ WW@HWBHTW?[

4. Temperature is low and air is humid/ TT9HM & g1 9YT §aT 3% 81

Correct Answer :-

« Temperature is high and air is humid/ TT9HE 31fee 8 YT 84T 3T &
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97) Study the following figures and find out the number opposite to 3./

frafafaa srefoal o1 sreaae o3 3R J@ 3 & faudia Jra o3|
N Q"_\_
w8l ] e |

1.4
2.2
3.5
4.6

Correct Answer :-

98) The mutation theory of evolution was proposed by? /fd®TH &1 Idf¥ad &1
Rigia fora= wfaarfea foear ur:

1. Mendel/ H&d

2. None of these/ SIRIad U I BIg o
3. Darwin/ ST

4. Lamarck/ WH%

Correct Answer :-

« None of these/ B‘qﬁaﬁﬁﬁfﬁ'ﬁ::@

99) DIRECTIONS: Study the following information carefully and answer the
question given below:/ﬁiﬂ: ffafad ser & e 3 tlﬁ'l! MR ﬁ'l'{ RILY Ul &

Ik i

M, D, P, K, R, T and W are sitting around a circle facing the centre. D is
second to the right of P who is third to the right of K. T is third to the right of
W who is not an immediate neighbour of D. M is third to the left of R./ M, D,

P,K,R, TRW F= P iR Y fruguaa F M IS T D, P F ST B g1 8 &l K F 1T
HIIRRITI T, W & S1¢ B FIRT 2 Sl D BT fApcdq USRI T8I 81 M, R & 91¢ &1 TR 21

Who is second to the right of T?/ T & i gORT B4 82
1. Data inadequate/@ETG{qﬂflI-r

2. K

3.D

4. M
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Correct Answer :-
« M

2 2

100) 2 2
If3A = 75% of B = 0.6 of C, then A: B: Cis:/4f¢ 3A =B $175% = 0.6 C, 9§ A: B: C JTd

Cad|
1.3:4:5
2.2:3:2
3.4:5:6

4,9:8:10

Correct Answer :-

e 90:8:10
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